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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
| | — e 100,000 3% 300
Ny 435 100,000 0 100,000
HSI2AY F& 100,000 0 100,000
207 A RO H| 100,000 0 100,000
01 A EAHI 100,000 0 100,000
O ZAIY EFEd A 2 OUlHE =&
29 20,000, 000& *53| 100,000
ol gl (aigrgl/ofiolgl) 3,789,507 8,915,182 25,125,675
oll 81 bl 3,789,507 8,915,182 25,125,675
[ {M=1Rs]! 3,789,507 8,915,182 25,125,675
801 Gildl Bl 3,789,507 8,915,182 25,125,675
01 BHoil bl bl 2,617,060 2,500,000 117,060
O etalgl bl 2,617,060, 000& 2,617,060
02 THoll - THH= =0l bl bl 1,172,447 4,031,182 AN2,858,735
OMadl - HH=H l8l b 1,172,447,000& 1,172,447




